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#1 Describe informally how sentence (a) differs from sentence (b). Try to mention all the differences.

1a Britain's worst terrorist incident is being investigated by its smallest police force.

1b Is Britain's worst terrorist incident being investigated by its smallest police force?

2a The president may be unable either to fulfil expectations or to contain expectations.

2b The president may be unable either to fulfil expectations or to contain them.

3a The party lost the will to uphold its rule at any cost.

3b The party did not lose the will to uphold its rule at any cost.

4a You are the one that everybody respects and admires.

4b Be the one that everybody respects and admires.

5a The child was bound to get excited from time to time.

5b The children were bound to get excited from time to time.

6a Sleepwalkers can never remember the sleepwalking episode when they wake up in the morning.

6b Sleepwalkers can never remember the sleepwalking episode when waking up in the morning.

7a We have never encountered so much resistance.

7b Never have we encountered so much resistance.

8a A professor of civil engineering has written a history of the pencil.

8b A history of the pencil has been written by a professor of civil engineering.

In the following three exercises find an example in the sentences for each of the items on the list.

#2 (i) The board has recommended that two new posts be created.

(ii) Frankly, Martin had not given this matter much thought recently.

(iii) Don’t kid yourself.

(iv) The youngest lad was throwing stones into our pond.

(v) My situation would be improved by an injection of funds. 
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#3 (i) No newspapers were delivered this morning

(ii) Your kettle might not be boiling by now.

(iii) Cook the rice gently for twenty minutes.

(iv) If that were possible, we should get better results.

(v) Many people have caught colds, apparently. 
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#4 (i) That June evening was very warm and humid.

(ii) In the failing light the motor mower was carving sinuous shapes across the lawns.

(iii) Four or five rooks slowly flapped their way towards the elm wood that guarded the northern boundary of the park.
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#5 Separate the subject from the predicate (=the rest of the sentence) with a slash (/). Then circle the finite verb. Find the non-finite verbs too.

(i) A moth was flying around the candle flame.

(ii) The banjo's string didn't twang.

(iii) The old man carrying a cane had been searching the room.

(iv) Any man having a handlebar moustache might need a special cup for coffee.

(v) Her brand new sports car will break an axle.

(vi) No one can prove they exist.

(vii) They could be recorded by dictaphone.

(viii) The room had been emptied suddenly.

(ix) Should witnesses be questioned during the recess?

(x) However, that night their best cutlery was stolen by someone.

#6 Rewrite each sentence below adding as many auxilieries as possible. You may, of course, channge the meaning to some extent.

i. They leave tomorrow.

ii. The door opened quietly.

iii. It rained.

iv. The wolf howls.

v. She plays the piano.
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